IRAYRETRT TdaThlsll FfAdeaRIarT 383 w3..

Do not open this booklet until asked to do so...

RATIONALIST TALENT SEARCH EXAM 2017

STD: IV a4 or
Roll No.

Date of Examination : 12 February 2017 Sunday
qrerfiardr IAT / Guidelines for the Candidate
1. NI AET g GRETT AR 3T il Hledr TTEl hee] EITdl.

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

2. YReT ge groargdl fdemedien carear dqut At @l #oarErd 30 A 3ifte de quard
A,

You will get additional 30 minutes to check and make sure about the information about yourself on
the Answer Sheet before the start of the exam.

3. X YRAYTARHET THUT 100 TR I Ycdeh FRATHIST 2 I[0T 37Te.
This question booklet contains 100 questions each question carries 2 marks.

4. |4 9% HISTAUI @IS Mg, AT SRideeel [ABleledn JOMd FHSATE! TPR I[OT TS Shel
SAMUIR TSN
All questions are compulsory. There is no negative marking.

5. 3Ucare qEITEl YA Aol Tl del egrdY.

Check to make sure that you have received the appropriate test booklet for your standard.
6. TIAAALY Hdd Thd 3o SRR 3. SRR ITRTATSY Thd 9Ty fAasrar.
There is only one correct answer. Choose only one option for an answer.

7. 3OUET 9T EIAUATATS! hadd Hadl/ Aol AT dieideTa araRrdr.

To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black Ball,

Pen only. Eg. -
Q. x : - Fill in the blanks Visit www.rtsexam.com for Answer key after 8 days

My father went.........cccecvvveeiuvrnnee To buy some milk.
a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding Q. x ‘ @ @

To option a) in the Answer Sheet
8. URET HUCATEX JHH SoRUTIT qAAeTehehs TR .
Return the Answer Sheet to the invigilator at the end of the exam.

9. 3MMUedT IRET HATH TRAYRdHAR FeaT foIgTdl T HeX TRAYEART TRET HreMathiedcR 3HTedT Fead .

Write your Roll No. on the Question Paper too and take it home for future reference.




frarel AERISTAT Sed Sl smer?

A) 2R ﬂ@aﬁ 2632 B) ¢ ﬂ@aﬁ 2€30 () ¢R ﬂ?ga'ri‘r 2ELC D) 2R ﬂ?{q’lfr 9E3Y

When did Shivaji Maharaj was born?
A) 19 February 1632 B) 19 February 1630 C) 19 February 1678 D) 19 February 1634

TRYaTSl HERTSTIAT HITAIST YedT o8 dhegl dhell.

A) Hol 2€4Y¥ B) HeT 2&l< C) "HeT 263¥ D) "ol 2&E9Y
Shivaji Maharaj accepted the treaty of purandhar with Mughals in -

A) 1654 A.D B) 1678 A.D C) 1634 A.D D) 1665 A.D

AT 99 SIUATT HIH YIGUIAT TUTATAT TSCTHT HSBId hIT Fg0TdId?

A) GHA B) & C) UfSRIa D) #HT

The minister having the duties of foreign affairs was called as

A) Sumanth B) Sachiva C) Panditrao D) Mantri

TSATTAYE HigodTell 3YTETT JIEUITHTS! SISTT=AT 7T

Heddle AT a¥q Ude Treidel gid.

a

A) T A7AET B) tfaIftheEelsr C) UTHT AT NEUEEEG]

The british had sent with valuable presents, to attend the coronation
ceremony.
A) Sir Thomas Roe B) Elephinstone C) Thomas Monroe D) Oxinden

TeRrSe funa g ol Raredr 3rfaesT @relieriddh uTeaT AT 8ia?
A) 9ot B) AT C) =ATfh D) #SS
Which city is the seat of the annual winter session of the Maharashtra state assembly

(VidhanSabha)?
A) Pune B) Nagpur C) Nashik D) Mumbai

guilieyr ffiar Aol AgRTeeTdTer hvTear fSeeard 3med.

A) 3RETETG B) 3§HETIR C) 3ERTddr D) 3TehlalT
In which district of Maharashtra are the famous Ajanta caves located?
A) Aurangabad B) Ahmednagar C) Amravati D) Akola

aifecear faa=ar Jeurd FRTer J=ardr qrerd Hiof FHor?

A) 3T B) 3IReTae

C) 31gHG QATg 3HsaTell D) 3eeli3cgld T&efsir
Who defeated the Maratha forces in 3" battle of panipat?

A) Akbar B) Aurangzeb

C) Ahamad Shah Abdali D) Allaudin Khilji




10.

11.

12.

13.

Greltel Yehl AGRISSIATST USSR 3¢ ATed HIvTA?

A) AT IS et B) U TSI 3ATed

C) Slegl IS 3T D) hdellcd IS 36T
Which one of these national parks is located in Maharashtra?

A) Dudhwa National Park B) Pench National Park

C) Kanha National Park D) Keoladeo National Park

‘FEATAT & T Hiof fafgar?

A) STSIT B) gleid Wil aely  C) 3/heiX D) ITYHT ATEY
Who wrote the ‘Babarnama’?

A) Babar B) Daulat Khan Lodhi C) Akbar D) None of these
‘NSAIRT’ 8T T Teaoi=r I8 TR,

A) Fel JHRTH B) §d AT C)dd msAerar D) Aushtr TarAT
‘Leelacharitra’ is a collection of the memories of
A) Sant Tukaram B) Sant Namdev C) Sant Gadgebaba D) Shri Chakradhar Swami

TTIE §STell Iy ARS?

A) fRrarsi B) forar HgTol C) 3ThoTor@reT D) ITT ATEY
Who killed Bada Sayyad?

A) Shivaji B) Jiva Mahal C) Afzalkhan D) none of these
fRIER=AT A cTaEAd TR g1 3 39,
A) BATeIGR B) STHCIGR C) gHeR NRIME]

Earch Pargana was headed by

A) Havaldar B) Jumledar C) Subhedar D) Patil

reitel I SO 3118,

lA) B) 3ffgearars C) IRRTOfY NEIRYIIEIE]

Identify the picture

A) Jijamata B) Ahilyabai C) Tararani D) Bahinabai




14.

15.

16.

17.

18.

19.

20.

21.

Ui 663 HEY qUATd ATl HERISTT 37eleTeh I §odll ol

A) SIS B) dexTd AR C) alera @t D) emfArEar @t
In April, 1663, Shivaji launched a surprise attack on

A) Vyankoji B) Chandrarao More C) Daulatkhan D) Shaista khan
TraTslT AGRISAT FHIBTATT IeATAT ATUATAT T Fgeol I ?

INERETI B) HgT C) BT D) 31T

A gold coin during Shivaji’s time was called a .

A) Sikka B) Mudra C) Hon D) Subha

GTelleTdeh! ARATAT ISerT Tofl HIoTdar?

A fog B) aTer C) gt MK
Which of the following is the national animal of India?
A) Lion B) Tiger C) Elephant D) Rhinoceros

YT TSEEASIT THUT fohell LT 3MMEe.

A) @leT B) dileT C) IR D) Ut
How many colours are there in our National flag?
A) Two B) Three C) Four D) Five

feuT AT FIvTAT Wosrelt Gafeid 31mg.

A) SsfHed B) STHETSI C) HeSgeer D) foiteaa
Deepa Karmakar is associated with which game?

A) Badminton B) Shooting C) Boxing D) Gymnastics
qg 1T 3Tg?

A) dRT B) 39dIg C)Ig D) eTHdIg

What is moon?

A) Star B) Satellite C) Planet D) Asteroid

3TIUTH R HIOATAIST T WAUATHIS! Fall AT [ABA?

A) 3iwer B) gaT C) grof D) 3o
What gives us energy to work and play?
A) Medicine B) Air C) Water D) Food

gedaY UEoT fhdl @3 3med?

A)b B) S C)R D) &
How many continents are there on the earth?
A)7 B) 5 C)9 D)6




22.

23.

24,

25.

26.

27.

28.

FHET AT Jargr=Y fRm shord?

A) qdehgel qiREASS B) qdehgeT ci&iolehs
C) 3Mhge cfaivlehs D) UiRaHehge Yders
What is the direction of the flow of the river Narmada?

A) From East to West B) From East to South
C) From North to South D) From West to East

GrolToTdehl HIUTAT ARRIYT AT6r?

INRE:E) B) AT C) At} D) ITEST
Which of the following is not a marine wealth?
A) Salt B) Fish C) Sand D) Limestone

B) ST C) dTedderd D) ddTa’

The animal shown in the given picture is used for transportation in

A
RalS

A) River B) Snow C) Desert D) Mountain

GToTdhT JITeE Taheh HIUTA?

A) =gE B) fAex C) foreliare D) adrerdhr ga
Which of the following is a unit of length?

A) Newton B) Meter C) Kilogram D) All of these
GrelleTdehl HIVTA AT TG ATEr?

A) cadr B) C) FTeT D) SfreT

Which one of the following is not a sense organ?

A) Skin B) Hair C) Ear D) Tongue

%Cj'\{-laddlo-l Sl IS grar?

A) EETETE; B) HETS C) Fo e D) farsra=ar
Tipu Sultan was the ruler of .

A) Hydrabad B) Madurai C) Maysore D) Vijaynagar
T dT Herell Her@lclel HIST SUURYS T LT AT FgUTol

A) T B) feeelr C) 3mam D) o




29.

30.

31.

32.

33.

34.

35.

36.

was a great centre of trade In Mughal empire and a very rich city?

A) Surat B) Delhi C) Agra D) Pune

CEER St HeledTeaR Aciiell TTONYREST sholl ST el
A) g B) SIdTGr c) ™RAs D) &ROT

Water can be supplied to field through canals after building a

river.

A) Bridge B) Tunnel C) Pyramid D) Dam

gad Halfteh JATUN HTGBUIRT a1y hiOTcT?

A) ATIEISTT B) 3ftfarastaT C) 9TugT=T arh D) ShTeeT ST 3TFATSS
Which gas exists in air in more quantity?
A) Nitrogen B) Oxygen C) Water Vapour D) Carbon dioxide

G HIvTd ATTarear R 3naikfed 3mg?

INEEIRES B) ShleT C) SraT D) Ierdhr |
Which one of the following is the internal organ of human body?
A) Kidney B) Ear C) Eye D) All of these

Grelleliehl gl AT & gl AU (IRURIR) Foll T HI0TA?
A) BRI B) Uael Fail C) STAfdegd D) Wietat

Which one of the following is the non-renewable source of energy?

A) Solar Energy B) Wind Energy C) Hydropower Energy D) Fossil fuel energy

GrelTeTdehT VT Hed iUl dfAST 3172

A) T B) BHUTH C) gT9E 3TaT D) fRrerh
Which one of the following fruits is the specialty of konkan?
A) Watermelon B) Jackfruit C) Alphanso Mango D) Chickoo

Grellelieh FiASATET Y@ FHId HI0TT?

A) 3Tabr B) HIH C) 33T D) adrar YT Ea
Which of the following is a rich source of protein?
A) Pulses B) Meat C) Eggs D) All of these

GrelleTdehl HIUTA HAT dBId TSl ?

A) T |IEY B) foted C) gl ST D) @Yl ThE
Which of these will take the least time to get dry?
A) Silk Saree B) Jeans C) Cotton Handkerchief D) Woolen Skirt

A) GaTell 3R Addl B)gd dTgdr
C) garerm fAfse R 3rFdr D) A 37for B




We always need to store liquid in containers. It is because
A) Liquid has no fixed shape B) Liquid can flow
C) Liquide has fixed shape D)Both A& B

aleT 3Rt vepor fawA wear R ameda?

A) ¥ B) ¥9 C) 9o D) &o
How many odd numbers are there having only two digit?
A) 54 B) 45 C) 50 D)60
HaTd AeT HYUlieh HIOTAT?

3 3 3 3
A B) § 3 D) ¢

Find the greatest fraction?
3 3 3 3
A) - B) < C) " D) -

¢,,8,0,0 AT IHMAT Uheld dTUT hded IglId oTgled T&AT dIR .

A) 0%l B) <o¥LR C) Wl¢o D) Q0Y¥<b
Using the digit 8,2,4,7,0 only once form the smallest number?
A) 20478 B) 80472 C) 24780 D) 20487

ThT HRl JUITEe IS QEIUITATST ¥ arF e fAfae aRmad. WRd=AT Jararanrdr
ARETT dc5 ATl TR HReAT TSN ST3el TRl AVATHTST THUT fohell das ellael?
A) 8 arF Qe fAeE B) & OTH 3o fAsic

C) ¢ drE yo fAeTe D)% M

A Car takes 4 hours and 20 minutes to reach Raigarh from Pune. It take same time for the return
journey. How much total time does the car takes for going to Raigarh from Pune and return?

A) 4 Hours 20 minutes B) 6 hours 30 minute
C) 8 hours 40 minutes D) 9 hours

G| AT SIEAT S oy RepoT IR grder?

How many triangles are there in the given figure?

A) B) ¥ C) ¢ D)&
A)5 B) 4 C)8 D)6




42.

43.

44,

45.

46.

47.

A) %€ B) 29 C) 2 D) 2¢

How many circles are there in the given figure?

A) 16 B) 15 C) 17 D) 18

36QY 1 HEAT YCby HEET doll .

A) 28¢€0 B) 220 C) 28%0 D) €8¢o
Substract 3694 from 4874
A) 1160 B) 1170 C) 1190 D) 1180

@rellel YehT Fald SIglel gRIer 31qulieh HIuTdT?

A) 0,004y B) 0.09 C) 8.09 D) 0.90
Which of the following given decimal fractions is the smallest?

A) 0.005 B) 0.05 C) 5.05 D) 0.50

ed fafeee sdhiay fafhe wA 39w T 39¢eR AT fafherr fashr s, X
THUT fevelt fafererr fashr smeir?
A) go0 B) Q¢ C) R D) %3

If at a railway booking office, tickets numbering from 352721 to 352812 are sold, how many tickets
were sold in all?
A) 100 B) 91 C) 92 D) 93

Tt 9 oF AT AT SO TE&AT HIoTAT?

A) 3¥R B) 3¥W3 C) 3¥39 D) 3¥9R
Find the number which is exactly divisible by 5?
A) 3422 B) 3423 C) 3435 D) 3452

g+ 3+3xo0="fHar
A) o B) Y C)& D) ¢




48.

49.

50.

51.

52.

53.

5+ 3+ 3x0=?

A)O B) 5 C)6

VR¢%03 + ¢¥]o¥ly + Wo3 = ?

A) (3¢o%L B) R¥143 C) LbRgooo

798103 + 142047 + 2103 ="

A) 838047 B) 942253 C) 796000

2¢ 2% Q0 2§ )

B qUTieRTaT 3aXdr FOTaT?

¢ ' w7 gar 3 HH '

g o AL O
¢ e 7w T ¥ e T T

o TRANARN A B p) & &K

)'\’?"\’?"\’?"\’? )‘\’?’??’Q?'

11 19 20 16

The descending order of the fraction — ,— , — , — is
21 '21 ° 21

21
11 16 20 19 20 19 16
A i oz B) il
20 11 19 16 11 16 19
On o 2i'=: D) i =
GToleTdhT HIUTdr 3Tehdr TATAT 38?2
C

Which of the following figure is symmetrical?

& fead = e,

A) CEYo B) C¥&oo C) ¢&Yoo
How many seconds make a day?

A) 8640 B) 84600 C) 86400
QAT PO TEhy TEAT A 2

A) TET HREET  B) dh C) gafarofr

Which of the following is not a co-operative society?
A) Sugar Factory B) Bank C) Cotton Mill

dRUTHTS § U35 a3 foarur shivtaar fSeedra 3me?
1) 4ob 2) FAGTER 3) STBIa

In which district is the hill station of toranmal?
1) Dhule 2) Nandurbar 3) Jalgaon

¢

11
21

20
21

D) 1

D) R¢3043

D) 983053

0

.

D) ¢¥oto

D) 84060

D) ATeAfAS faearery

D) High School

NENEED

4) Nashik




54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

SIS gl TEd?

A) 30T B) IRaT C) Jeiud D) S
Due to the forests the air remains
A) hot B) Dry C) Polluted D) Cool

GrelleliehT 37e[etr Qrsarel gAY foasr.
A) HIfg B) Hgcd o D) Hshlc

9IS ©Tel0r AT TehyRIET 3 HI0Tdr?
A) SRQT SiqoT B) &THT 0T C)&TAT & #IOT D) 3UrRf Tgor

GrelleTdehT SIUTAT 2eg [IAVOT ATEI?
A) 9dd B) §RIR C) RTAIR DETICEEN

JAT IT AT FATATLT AT TIRITAST AU HIUTAT?
A) qaT B) 19T C) FTcBoiT D) fRrar

GTollel IRt JehiT 311chT.
(CERTCICCIRIC R IC)

A) BreRTAf B) AhRIAT C) 3R D) R&ATdH
Wehdld TTelell FEUT 3adT.
3T ar T ar
a ar T 3
am Ell g &r
A) 5% 38 faes g B) aId d¥ XA
C) 3ol Ml 31ard dreY D) IMGaTel I[eBIdl T I

‘el AT Aserar 3T HI?
A) Hipre B) 3TGUTIRT C) 3118 D) 3cTer

Find the word similar in meaning (synonym) to the word given below.
Abandon
A) Leave B) Repair C) give D) deceive

Fill in the blank with most suitable article ‘a’ ‘an’ or ‘the’ :
earth is bigger than mars
A)The, a B) The, no article C)An, a D) A, a

——
©
| —



64.

65.

66.

67.

68.

69.

70.

71.

72.

Mark adjective from the given options.

A) Broken B) Shorten C) Happen D) Whiten
Select the prefix that would be added to the word to make its antonym:
Proper

A) In B) Im C) Un D) Dis

Select the adverb in the following sentence.
You are quite wrong in this matter.
A) You B) Quite C) Matter D) Wrong

Select the correct spilt word.

A) gauva B) guva C) gvava D) guava
Select the correct pair :
A) Bush - bushes B) Box - boxs C) baby - babys D) book - bookes

Find odd man out:
A) owl- hoots B) duck - mews C) frog - croacks D) sheep - bleats

e HRATY e TR FoT?

A) ST.THT JHTE HGSH B) SI.9T9THRS 3TT9SaT

C) TER doled T D) TER ToadHS ol
Who was first home minister of Independent India?

A) Dr.Shyama Prasad Mukharji B) Dr.Babasaheb Ambedkar
C) Sardar Baldev Singh D) Sardar Vallabhbhai Patel

Grellel 3TehcdI aodTele Ffdfds 3iear.
Find the water image of the figure.
RG] 3-TIT=!3_cﬁ / Question Figure

FZ

3 3TepcaT | Answer Figures

FZ LX LEZ FN

A) B) C) D)

IeTd o SHUTNT T&AT .

A) WY B) &3 C) Y¥¢ D) ¥
Find the odd number out.
A) 24 B) 63 C) 48 D) 45

10

——
| —



73.

74.

75.

76.

e MR T S[BUTRT 3MTehcll FHIOTCAT?
Find the exactly similar figure to the question figure.
W 3Tehcil / Question Figure

/N

3aX 3T / Answer Figures

DY A o

el RIcgrear el Sordr dEar Iga?

¥ 1R 3

R 13 b

& ? R

A) %€ B) 29 C) R D) ¥
Which number should occur in the place of the question mark?

4 12 3

2 14 7

6 ? 2
A) 16 B) 15 C) 12 D) 4
qIedT © -

Grellel 9RATd Afgedl @ ga-aT YerALd St §aY 3ig. adra daer fae=ar g =i
UETHEY 3. d¥ TeeTegredr SIEl HIord U ASoT O Qe

Instruction:-
In the question below, the first and second terms have a specific relationship. The same
relationship occurs between the third and fourth terms. Which term will replace the question mark.

TVX : KMO :: CFl : ?
A) GIK B) PSV C) LIF D) NPS

903 : 3902 1 ¥3y: ?

A) 8¥e3 B) 923Y% C) 93¥¢ D) 4¢3Y%
1023 :3102::4135:°7
A) 5413 B) 5134 C) 5341 D) 5134

11

——
| —



77.

78.

79.

80.

GTollel AETAT AT A ATdl.

. Asq R. 3ART 3. dIsFg

g, dlh TOR

A) ¥,2,9,3,3 B) ¥,2,3,9, C) ¥,2,9,¢,3
Arrange the given words in a meaningful sequence.

1. Word 2. Paragraph 3. Sentence
5. Phrase

A) 4,1,5,2,3 B) 4,1,3,5,2 C) 4,2,5,1,3

¥. &

D) ¥,2,8,3

4, Letters

D) 4,1,5,3,2

Wrelleldehl HIUTe deT 3Tehcll FA1, 3S d STITIIT AT Teehian Hael 3H FehR g

Which of the following Venn diagrams indicates the best relation between woman, mother and

Engineers

O 0. K

Qrellel AT o7 FOTRT 3MThell IR AThcATHLY e,
Find out which of the answer figures completes the given figure matrix.
W 3Teheil / Question Figure

A) B) Q)
IR S[BUTRT ese; foasT.
A) BT B) PFHH C) o

Find the similar word for the following group.
Heart, Liver, Brain,
A) Head B) Lungs C) Chest

12

D)

D)

D) 9rg

D) Leg

——
| —



81.

82.

83.

84.

85.

geAfegr=ar el AU FE&AT HIoTdr?

9 & & b
2R R4
¥ 9

A) R B) 3o C) 3R D) 3¢

Find the number which will replace the mark?

5 6 6 7 4 8
12 21 ?
4 5 10

A) 22 B) 30 C) 32 D) 31

ThT Hlchideh ANT SR D=¢, F =¥ 3o 1 = ¢ g J =030, W IxJ+D-F=?

A) O B) ¢ C)R D) 3
In a certain coded language D=6,F=4and 1=1,J=0thenIxJ+D-F="?
A)O B) 12 C)2 D)3

Tehl TaTd NATT ST ST Aehrehged ¢ dF T WeldT Sleplehgel ¢ d 3¢ o TElciel
THUT Helrd F&aT faheir?

A) 38 B) 3% C) 33 D) 39
In a row Rima is 16" from top and 19" from bottom. Find total number of girls in the row?
A) 36 B) 34 C) 33 D) 35

Find the odd man out.

Agera gaT=r Qmem.

)
| /@
B) =2 C) D)

3MThclTel RIS Tfcar el feder O ey e foasr.

Find the mirror image of the question figure below.
RG] 3-TIT=!_T<-?[ / Question Figure

27

3 3-TIT=!3_<-ﬁ / Answer Figure

12 IS N2\

A) B) C) D)

13

——
| —



86.

87.

88.

89.

90.

91.

92.

@rellel a1 fRegrear Siafy AU 3Tehcl HioTer?

Find the missing figure in the series given below.

LLD P LLLLT peean =2
LT LTI P T

A) B) C) D)

22 f3H R00¢ Sl AR 31M¢, R Gl AfRTAT 22 STATIST HIOTAT dR Aol

A) IEAR B) AR C) IR DEIEEIES
On 11 December 2008 it is Wednesday. In the next month which day will come on 11 January?
A) Thursday B) Friday C) Saturday D) Sunday

STIhdTal ¢RUT Wlelleldeh! HIUTAT [STeedrd 3 ?

A) 3iRaTETE B) qOT C) Tl D) 31T
In which of the following district Jayakwadi dam is situated?

A) Aurangabad B) Pune C) Sangali D) Thane
e St gl fead FEULT HISRT chell STAT?

A) freTerfeeT SEIERGURG OEIGIREG] D) FTHTSI 1T feat

26 July is celebrated as

A) Teachers day B) Engineers day C) Kranti Din D) Social Justice day
HRATT JSTT=AT HIUTAT 38?

A) HeS B) feealr C) AT D) doels

Which is the capital of India?

A) Mumbai B) Delhi C) Nagpur D) Chennai
IulSeeIeRy I fAas FIor axa?

A) eI oliepdar TITaT B) FERTISC llhdar 3TTAIET

C) TUsg4red D) BEJIEEIRY

‘Dupty Collector’ is selected by

A) Union public service commission B) Maharashtra public service commission
C) Governer D) collector

AERTSE faae=T T 3med?

A) [dslg dras B) UehalTdl WSH C) Ugehic Uiélel D) UR HACIAR
Who is the finance minister of Maharashtra?
A) Vinod Tawade B) Eknath Khadse C) Chandrakant Patil D) Sudhir Mungantiwar

14

——
| —



93.

94.

95.

96.

97.

98.

99.

100.

HERTSIAT GfREGAT HI0TAT Fog 318 ?
A) f&&r HgrEmR B) SHTTeraT 3YHAR C) 3 Falg D) ITdhr ATET

Which sea is to the west of Maharashtra?
A) Great Indian Occean B) Bay of Bengol C) Arabian Sea D) None of these

gl T #HadAl Hiorear G i
A) qdehgeT UlRuHASS B) Ydehgel qdehs  C) IREARSA Ydehs D) AT T8

In which direction does the earth rotates on its own axis?
A) East to West B) East to East C) West to East D) none of these

fAraesd avs FHIvTcar @R Jafad 3mg?

A) Isfiea B) cfadr C) forahe D) glehT
Wimbledon Trophy is associated with which sports?
A) Badminton B) Tennis C) Cricket D) Hockey

Trelleldehl ST YTUATCT dlbaclcliel SgTel F6U @l Sidl?

A) g B) g C) IMed D) 3¢

Which animal is called the ship of the desert?

A) Elephant B)Lion C) Donkey D) Camel

SteT AT TATIAT FIOT FHell?

INEIGE: B) HGTAR C) R D) I[&sTTeteh
Who is the founder of the Jainism?

A) Gautama B) Mahavira C) Siddartha D) Guru Nanak

AT ARAT digel ST HioT?

A) 31.8).3TR. 3Te98a B) 31.3Toig, 9TC

C) 9f3d STaEldTd Ag® D) TER ToaddHTS Ul
Who was the first president of independent India?

A) Dr. B.R. Amebdkar B) Dr.Rajendra Prasad

C) Pandit Jawaharlal Neharu D) Sardar Vallabhbhai Patel

I ATRA ¢ g ol RAfger?
A) FGTCAT el B) 3RTdg €Y C) dfhedg dcoil D) AcsT Algd AT
‘Vande Mataram’s author is

A) Mahatma Gandhi B) Aurobindo Ghosh
C) Bankim Chandra Chatterjee D) Madan Mohan Malviya

dTSTHAg e IUTCAT AT famay 3Mg?

A) 1T B) =1 c) fogg D) ardY
TajMahal is on the banks of
A) Ganga B) Yamuna C) Sindhu D) Tapi
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